ICS 103-062
 Quiz6
Question 1: (5 points)
	#include <stdio.h> // 2 points 

int main() {

int i,j;

int a[][3]={3,2,5,6,4,8,7};

int b[2][3];

for (i=1;i>=0;i--) {

 for(j=0;j<3;j++) {

   if(i%2)

    b[i][j]=a[i-1][j];

   else

    b[i][j]=b[i+1][(j+1)%3]+j;

}}

return 0;

}

	Show the values of array b after executing the program
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	What is the program output?

#include <stdio.h>  //  3 points
#include <string.h>

int main() {

char s[3][20]={"a1c?48x","s?t2","?=yz3"};

int i,j;

for(i=2;i>=0;i--) {

printf("%d\n",strlen(s[i]));

for(j=strlen(s[i])-1;j>=0;j--) {

  if(s[i][j]=='?')

    break;

  printf("%c",s[i][j]);

}

printf("\n");

}

return 0;

}
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Question 2: (2 points)

Write a program that will declare an array of integer values with 4 rows and 7 columns.  Your program reads the values of the array from the user row by row.  After that, it will find the sum of elements of column 2 and print it on the screen. You have to use loops for reading and finding the sum.
#include <stdio.h>

int main() {

int x[4][7],i,j,sum=0;

printf("Enter 28 values for 2-d array row by row >");

for(i=0;i<4;i++) {

  for(j=0;j<7;j++)

    scanf("%d",&x[i][j]);

}

for(i=0;i<4;i++)

  sum=sum+x[i][1]; // 1 refers to column 2 (second column)

printf("The sum of column 2 is %d",sum);

return 0;

}
Question 3:

Write a program that reads 5 lines of text from the user with each line not exceeding 70 characters.  It will save them in an array, then it will find how many times the letter a (‘A’ or ‘a’ ) is present in the text.  The result should be printed on the screen.
#include <string.h>

#include <stdio.h>

int main() {

char text[5][71]; // 71 minimum column size (70 characeters) 

int i,j,count=0;

printf("Enter 5 lines of text\n >");

for(i=0;i<5;i++) {

  gets(text[i]);

}

for(i=0;i<5;i++) {

  for (j=0;j<strlen(text[i]);j++ ){

    if(text[i][j]=='A'||text[i][j]=='a')

      count++;

  }

}

printf("The letter a is present %d times in the text",count);

return 0;}







